FITTING INSTRUCTION

PRODUCT : Recovrery Point
SUITE TO VEHICLE : TOYOTA LAND CRUISER PRADO 150 2010 - 2018 PART LISTS

4x4 ACCESSORIES

Recovrery Point, 1 Set. L,R

Cage Nut Plate , 2 Pcs.

U - Bolt M12 x 1.5, 2 Pcs.

@ ® ® @ ®

i )8 b}

Washer M12, 14 Pcs. Nut M12 x 1.5, 6 Pcs. Bolt M12 x 1.5 x 50, 4 Pcs. Bolt M12 x 1.25 x 35, 4 Pcs. Bolt M12 x 1.5x 90, 2 Pcs.




	Recovrery  Point Prado 150 2018 Fitting

